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Physics Test Review ‘
Accelerated & Projectile Motion
Horizontal Motion Equation: ) Vertical Motion Equations:
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Horizontal Projectiles:
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1. Which of the following would be considered a “projectile” when in the air?
a. an airplane taking off
m a tennis ball lobbed over a net
c. a parachutlst drifting to Earth
d) a frog jumping from land into the water
} flat rock skipping across the surface of a lake
) a three-point shot in basketball
g.) a ball bouncing across a room
{ h) a cliff diver

Be sure to list all knowns and unknowns in columns. Show all calculations and
CIRCLE YOUR ANSWERS.

2. A tornado is holding a car 125 m above the ground_wThe tornado then flings the car
horizontally with an initial speed of 90. 0 m/s. How long . “does the car take to reach the
ground? XHOW far hormontally does the ¢ar travel before hitting the ground?
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3. A diver runs horizontally with a speed of 1.20 m/s off a platform that is 10 Om
above the water. What is hlS Speed just before striking the water?
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4, Acar drwes stﬁlé%t off the edge of a cliff that is 54 m high. The police at the scene

traveling when i went over thé ohff?
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5. A horizontal rifle is fired'at a ' Btill’'s-eye.” The muzzle speed of the bullet is 670 m/s.
The barrel is pointed directly at the center of the bull’s-eye;-but the bullet strikes the
target 0.025 m below the center. x%What is the orlzontal d1stance between the end of

the rifle and the bull’s-eye?
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7. A baseball rolls off a 0.70 m high desk and strikes the floor 0.25 m away from the

base of the desk. *i{?w fast %as the ball rolling?
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8. A cat chases a mouse across al0 m high table The mouse steps out of the way,
and the cat slides off the table and str1kes the floor 2.2 m from the edge of the table.
When the cat slid off the table, What was 1’E§“§.’"ﬁe@d’9
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h’?rrgm a height of 5.4 m. The ™
fish travels 8.0 m horizontally before it hits the water below. What was s the pelican’ s
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10. If the pelican in problem 4 was traveling at the s same speed but was only 2.7 m

above the water, how far would the fish travel horizontally before hitting the water
below?
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11. Luke Autbeloe is riding in a hot air balloon drops his camera frqu_w an altitude of

70 m. How lon d@es it take the camera to reach the ground? Wx\at is the Veloc1ty of S
the camera just "before it hits the ground?
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12. A carmovingona streught road increases 1ts speed at a uniform rate of 10 m/ _
to 20 m/s in 5 0 s. What 18 1ts acceleratlon? ;H'ow far dld 1t “go during those 5.0 s?
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13. A ball rolls.down a hill with a constant acceleration of 3.0 m/s?. If it starts from
rest What is its speed ‘at the end of 4.0 s? How far dld the“ball move in that 4.0s7
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14. According to Gumness the tallest man to have ever lived was Robert Pershing

Wadlow of Alton, Hlinois. He was last measured in 1940 to be 2.72 meters tall (8 feet,

11 inches). Qe&ermme the speed Whhch a quarter would have reached before contact
- with the ground if dropped % from the top of his head
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